This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - Clydebank Waterfront

5,018

4

1,004

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Locky CAMERON	Independent	146
Gail CASEY	Scottish Labour Party	1,298
William HENDRIE	Scottish National Party (SNP)	1,487
Joe HENRY	Independent	292
David JARDINE	Scottish Conservative and Unionist	531
Daniel LENNIE	Scottish Labour Party	271
Marie A MCNAIR	Scottish National Party (SNP)	601
Frank MCNIFF	Scottish National Party (SNP)	350
Brian MURRAY	Independent	42
	Total	5,018

Candidate Gail CASEY Elected with 1,298 votes, being in excess of the quota of 1,004 Candidate William HENDRIE Elected with 1,487 votes, being in excess of the quota of 1,004

This report contains the transfers results.

Stage 2 - Surplus of William HENDRIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	18	0.32481	5.84658
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	57	0.32481	18.51417
Transfer to David JARDINE	12	0.32481	3.89772
Transfer to Daniel LENNIE	43	0.32481	13.96683
Transfer to Marie A MCNAIR	1,025	0.32481	332.93025
Transfer to Frank MCNIFF	272	0.32481	88.34832
Transfer to Brian MURRAY	0	0.00000	0.00000
Value of non-transferable ballot papers			19.49613
	Total		483.00000

This report contains the transfers results.

Stage 3 - Surplus of Gail CASEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	29	0.22650	6.56850
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	74	0.22650	16.76100
Transfer to David JARDINE	50	0.22650	11.32500
Transfer to Daniel LENNIE	966	0.22650	218.79900
Transfer to Marie A MCNAIR	50	0.22650	11.32500
Transfer to Frank MCNIFF	6	0.22650	1.35900
Transfer to Brian MURRAY	2	0.22650	0.45300
Value of non-transferable ballot papers			27.40950
	Total		294.00000

This report contains the transfers results.

Stage 4 - Exclusion of Brian MURRAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	7	1.00000	7.00000
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	16	1.00000	16.00000
Transfer to David JARDINE	2	1.00000	2.00000
Transfer to Daniel LENNIE	2	0.22650	0.45300
Transfer to Daniel LENNIE	3	1.00000	3.00000
Transfer to Marie A MCNAIR	2	1.00000	2.00000
Transfer to Frank MCNIFF	4	1.00000	4.00000
Value of non-transferable ballot papers			8.00000
	Total		42.45300

This report contains the transfers results.

Stage 5 - Exclusion of Locky CAMERON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	9	0.22650	2.03850
Transfer to Joe HENRY	6	0.32481	1.94886
Transfer to Joe HENRY	76	1.00000	76.00000
Transfer to David JARDINE	12	1.00000	12.00000
Transfer to Daniel LENNIE	13	0.22650	2.94450
Transfer to Daniel LENNIE	13	1.00000	13.00000
Transfer to Marie A MCNAIR	6	0.32481	1.94886
Transfer to Marie A MCNAIR	17	1.00000	17.00000
Transfer to Frank MCNIFF	2	0.22650	0.45300
Transfer to Frank MCNIFF	1	0.32481	0.32481
Transfer to Frank MCNIFF	11	1.00000	11.00000
Transfer to Brian MURRAY	0	0.00000	0.00000
Value of non-transferable ballot papers			26.75655
	Total		165.41508

This report contains the transfers results.

Stage 6 - Exclusion of Joe HENRY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	0	0.00000	0.00000
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to David JARDINE	11	0.22650	2.49150
Transfer to David JARDINE	1	0.32481	0.32481
Transfer to David JARDINE	34	1.00000	34.00000
Transfer to Daniel LENNIE	44	0.22650	9.96600
Transfer to Daniel LENNIE	4	0.32481	1.29924
Transfer to Daniel LENNIE	61	1.00000	61.00000
Transfer to Marie A MCNAIR	1	0.22650	0.22650
Transfer to Marie A MCNAIR	26	0.32481	8.44506
Transfer to Marie A MCNAIR	77	1.00000	77.00000
Transfer to Frank MCNIFF	1	0.22650	0.22650
Transfer to Frank MCNIFF	10	0.32481	3.24810
Transfer to Frank MCNIFF	35	1.00000	35.00000
Transfer to Brian MURRAY	0	0.00000	0.00000
Value of non-transferable ballot papers			190.03482
	Total		423.26253

This report contains the transfers results.

Stage 7 - Surplus of Marie A MCNAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	0	0.00000	0.00000
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	0	0.00000	0.00000
Transfer to David JARDINE	2	0.01030	0.02060
Transfer to David JARDINE	5	0.01478	0.07390
Transfer to David JARDINE	9	0.04551	0.40959
Transfer to Daniel LENNIE	15	0.01030	0.15450
Transfer to Daniel LENNIE	12	0.01478	0.17736
Transfer to Daniel LENNIE	35	0.04551	1.59285
Transfer to Marie A MCNAIR	0	0.00000	0.00000
Transfer to Frank MCNIFF	13	0.01030	0.13390
Transfer to Frank MCNIFF	999	0.01478	14.76522
Transfer to Frank MCNIFF	546	0.04551	24.84846
Transfer to Brian MURRAY	0	0.00000	0.00000
Value of non-transferable ballot papers			5.69929
	Total		47.87567

This report contains the transfers results.

Stage 8 - Exclusion of Frank MCNIFF

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	0	0.00000	0.00000
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	0	0.00000	0.00000
Transfer to David JARDINE	1	0.01030	0.01030
Transfer to David JARDINE	21	0.01478	0.31038
Transfer to David JARDINE	19	0.04551	0.86469
Transfer to David JARDINE	8	0.32481	2.59848
Transfer to David JARDINE	11	1.00000	11.00000
Transfer to Daniel LENNIE	170	0.01478	2.51260
Transfer to Daniel LENNIE	97	0.04551	4.41447
Transfer to Daniel LENNIE	4	0.22650	0.90600
Transfer to Daniel LENNIE	56	0.32481	18.18936
Transfer to Daniel LENNIE	114	1.00000	114.00000
Transfer to Marie A MCNAIR	0	0.00000	0.00000
Transfer to Brian MURRAY	0	0.00000	0.00000
Value of non-transferable ballot papers			378.90103
	Total		533.70731

This report contains the transfers results.

Stage 9 - Exclusion of David JARDINE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Locky CAMERON	0	0.00000	0.00000
Transfer to Gail CASEY	0	0.00000	0.00000
Transfer to William HENDRIE	0	0.00000	0.00000
Transfer to Joe HENRY	0	0.00000	0.00000
Transfer to Daniel LENNIE	1	0.01030	0.01030
Transfer to Daniel LENNIE	16	0.01478	0.23648
Transfer to Daniel LENNIE	19	0.04551	0.86469
Transfer to Daniel LENNIE	36	0.22650	8.15400
Transfer to Daniel LENNIE	10	0.32481	3.24810
Transfer to Daniel LENNIE	202	1.00000	202.00000
Transfer to Marie A MCNAIR	0	0.00000	0.00000
Transfer to Frank MCNIFF	0	0.00000	0.00000
Transfer to Brian MURRAY	0	0.00000	0.00000
Value of non-transferable ballot papers			397.81340
	Total		612.32697